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#include <iostream>

#include <cstdio>

#include <cstdlib>

#include <algorithm>

#include <string>

#include <sstream>

#include <cstring>

#include <cctype>

#include <cmath>

#include <vector>

#include <set>

#include <map>

#include <stack>

#include <queue>

#include <ctime>

#include <cassert>

#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))

using namespace std;
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typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-";c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=="'-"';c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==""]|c=="\n"||c=="\r")c=getchar();
c,

inline void write(LL x
register char c , len=0;
X putchar('0'),void();
x<0)x=-x,putchar('-");
X)cl++len]=x%10,x/=10;

len)putchar(c|len-- |+ ;

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=2e5+5,MAXM=30;
struct Node

LL cnt;

int ch ;
node  MAXN*MAXM | ;
struct Pool

int Stack! MAXN*MAXM|, top,tot;

int New top?Stack|top--|:++tot;
void Delate(int x
node|[ x| .cnt=node[x].ch =node|[x].ch =0;

Stack|++top|=x;

pool;
void push up(int
k) {node|k].cnt=node|node|k].ch .cnt+node|node|k].ch .cnt;
void update(int &k,int lef,int rig,int pos,int v
I'k)k=pool.New( ) ;
lef==rig

node k] .cnt+=v,void();
int mid=lef+rig>>1;
mid>=pos
update(node k| .ch , Llef,mid, pos,v);
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update(node k! .ch ,mid+1,rig,pos,v);
push up(k);
void Merge(int &k1,int k2,int lef,int rig
'k1| | 'k2 kl|=k2,void();
lef==rig node|[kl!.cnt+=node k2].cnt,pool.Delate(k2);

int mid=lef+rig>>1;

Merge(node|kl]|.ch ,hode k2| .ch , lef,mid) ;
Merge(node Kkl .ch ,node k2] .ch ,mid+1,rig);
pool.Delate(k2);

push up(kl);

void split(int &k1,int &k2,int lef,int rig,int L,int R
Ikl :
L<=lef&&rig<=R
k2=k1;
k1=0;

’

k2=pool.New( ) ;
int mid=lef+rig>>1;
mid>=L
split(node/kl].ch ,hode[k2].ch ,lef,mid,L,R);
mid<R
split(node(kl!.ch ,node k2| .ch ,mid+1,rig,L,R);
push up(kl);push up(k2);

LL Count(int k,int lef,int rig,int L,int R

Ik o

L<=lef&&rig<=R
node k| .cnt;

int mid=lef+rig>>1;

mid>=R
Count(nodel[k].ch ,lef,mid,L,R);
mid<L
Count(nodelk]|.ch ,mid+1,rig,L,R);

Count(node(kl.ch ,lef,mid,L,R)+Count(nodelk!.ch ,mid+1,rig,L,R);

int Rank(int k,int lef,int rig,LL rk
node[k!.cnt<rk

int mid=lef+rig>>1;
lef==rig mid;
rk<=node node k] .ch .cnt
Rank(node|k].ch , lef,mid, rk) ;

Rank(node|k].ch ,mid+1,rig, rk-node | nodelk]|.ch .cnt);

int root/MAXN|,root cnt=1;

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

;823;87/07 2020'2021:‘Deaumg:ﬁgma'—étgng”xmwm: https://wiki.cvbbacm.com/doku.php?id=2020-2021 teams:legal_string;jxm2001:%E7%BA%BF%E6%AE%BS%EG%AO%IL%ES%I0%BB%ESY%BI%BE_%ES%B8%B6%ES%A3%S2&rev=1594125469

20:37

int main

int n=read int(),m=read int(),v,p,X,y,opt;
_rep(i,1,n
v=read int();
v
update(root ,L,n,i,v);

m_-
opt=read int(),p=read int();
opt

x=read int(),y=read int();
split(root/p!,root/++root cnt!/,1,n,x,y);

’

x=read _int();
Merge(root|p|,root|x!,1,n);

.
’

x=read int(),y=read int();
update(rootip!/,1,n,y,x);

’

x=read int(),y=read int();
enter(Count(root(pl,1,n,x,y));
x=read _int();
enter(Rank(rootip!,1,n,x));

.
’
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#include <iostream>

#include <cstdio>
#include <cstdlib>

#include <algorithm>

#include <string>
#include <sstream>
#include <cstring>
#include <cctype>
#include <cmath>
#include <vector>
#include <set>
#include <map>
#include <stack>
#include <queue>
#include <ctime>
#include <cassert>

#define for(i,a,b) for(int i=(a);i<(b);++i)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))

using namespace std;

typedef 1
inline in

int t=0;bool sign=false;char c=getchar
lisdigit(c sign|=c=="'-";c=getchar
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar

while
while
retur

inline LL

LL t=0;bool sign=false;char c=getchar
lisdigit(c)){sign|=c=="'-";c=getchar
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar

while
while
retur

inline ch
char
while
retur

inline vo

register char c[21],len=0;

ong long LL;
t read int

n sign?-t:t;

read LL

n sign?-t:t;

ar get _char
c=getchar();

C::' L | |C::'\n' | |C::'\r" C:getchar

n c;

id write(LL x
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I'X putchar('0'),void

x<0)x=-x,putchar('-");
X)cl++len]=x%10,x/=
len)putchar(c|len-- |+

’

.
’

.
1

inline void space(LL x){write(x),putchar("' '
inline void enter(LL x){write(x),putchar('\n’
const int MAXN=1e5+5,MAXM=
struct Edge
int to,next;
edge [ MAXN<<1];
int head MAXN]|,edge cnt;
void Insert(int u,int v
edge|++edge cnt].to=v;
edge|edge cnt].next=head|u!;
head|u|=edge cnt;

’
’

.
’

struct LCA
int d/MAXN|,anc|MAXN| MAXM|,log2|[MAXN];
void dfs(int u,int fa,int dep
anclu =fa,d ul=dep;
int i=head|u];1i;i=edge[i].next
int v=edgel[i].to;
v==fa

dfs(v,u,dep+l);

void build(int root,int n
log2[1]=0;
_rep(i,2,n
log2/il=log2/i>>1]+1;
dfs(root,-1,1);
_rep(i,1,n){/000100

int j=1; (1<<j)<n;j++
anclil/[jl=-1;
int j=1;(1l<<j)<n;j++
_rep(i,1,n
ancli][j-1]==-
’
anc/i|!jl=anclanc|i]|]- j-11;

int query(int p,int q
dipl<dlq
swapip,q);
int i=log2|dip!|;i>=0;1i--
dlp]-(l<<i)>=d[q
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p=ancipllil;
pP==9
p;
int i=log2[d[p]];i>=0;1i--
anclpl/lil!=-1&8anc|p/lill=anciqlli

p=anc/p![il,q=anciql[i];

ancip ;

lca;
const int MAXS=MAXN*60;
int root[MAXN], tot;
struct Node

int max cnt,ans;

int ch ;
node [MAXS | ;
void push up(int k

node[node|k|.ch .max_cnt>=node[nodelk]|.ch .max_cnt

node k! .max cnt=node/node k|.ch .max_cnt,nodelk|.ans=node|nodelk].ch
.ans;
node k| .max cnt=node nodelk!.ch .max_cnt,node|k!.ans=node[node|k|.ch
.ans;

void update(int &k,int lef,int rig,int pos,int v

lk) k=++tot;

lef==rig node[k]|.max_ cnt+=v,node|k].ans=pos,void();
int mid=lef+rig>>1;

pos>mid
update(node k| .ch ,mid+1,rig,pos,v);

update(node k! .ch , lef,mid, pos,v);

push up(k);
void Merge(int &k1,int k2,int lef,int rig
k1| | 'k2 kl|=k2,void();
lef==rig node[kl].max cnt+=node[k2].max cnt,void();

int mid=lef+rig>>1;

Merge(node|kl].ch ,nhode k2| .ch , lef,mid) ;
Merge(node|kl].ch ,nhode|k2].ch ,mid+1,rig);
push up(kl);

int XIMAXN],Y MAXN]|,Z MAXN|,b[MAXN|,ans|[MAXN|,Max z;
void dfs(int u
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
lca.anclu ==V

dfs(v);
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Merge(root|ul,root|v/,1,Max z);
ans|ul=node|root/u!|.max cnt>0?node|root|ul]|.ans:0;
int main

int n=read int(),q=read int(),u,v,p;
_for(i,1,n
u=read int(),v=read int();
Insert(u,v);
Insert(v,u);

lca.build(1,n);

_for(i,0,q

X[il=read int(),Y[il=read int(),Z/i/=read int();

memcpy(b,Z,sizeof(Z));

sort(b,b+q);

Max_z=unique(b,b+q)-b;

_for(i,0,q
Z/i|=lower bound(b,b+Max z,Z[i!)-b+1;

update(root|X[il|,1,Max z,Z[i]|,1);update(root|[Y(i!]/,1,Max z,Z/i],1);

p=lca.query(X[i],Y[i]);

update(root/p!,1,Max z,Z/il,-1);
p=lca.anc(p ;
p!=-
update(rootip!,1,Max z,Z[il,-1);
dfs 0
_rep(i,1,n
ans|i

enter(blans[i]- ;

enter ;
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#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <algorithm>
#include <string>
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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#define

<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

_for(i,a,b) for(int i=(a);i<(b);++i)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)

#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar

lisdigit(c)){sign|=c=="'-";c=getchar
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar

sign?-t:t;

inline LL read LL

LL t=

0;bool sign=false;char c=getchar();

lisdigit(c)){sign|=c=="'-";c=getchar
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar

sign?-t:t;

inline char get char

char

c=getchar();

C::I '||C=='\[‘|'||C=='\|"‘I C:getchar

c;

inline void write(LL x
register char c[21],len=0;

I'x

putchar('0'),void();

x<0)x=-x,putchar('-");

X)cl++len|=x%10,x/=10;
len)putchar(c/len--+48);

inline void space(LL x){write(x),putchar(' '

inline void enter(LL x){write(x),putchar('\n’

const int MAXN=1e5+5,MAXM=20;

struct Edge
int to,next;

edge [ MAXN<<1];

int head[MAXN!|,edge cnt;

void Insert(int u,int v
edge|++edge cnt].to=v;
edge|edge cnt].next=head|u!;

head

ul=edge cnt;
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struct lazy tag
int v,next;

lazy [ MAXN*MAXM] ;

int head 2/MAXN|,lazy cnt;

void Insert 2(int u,int v
lazy|++lazy cnt].v=v;
lazy|lazy cnt|.next=head 2/u/;
head 2/ul=lazy cnt;

int Max_cnt[MAXN<<2]|,Ans | MAXN<<2|,lef|[MAXN<<2|,rig[MAXN<<2];
void build(int k,int L,int R
leflk!=L,riglkl|=R;
int M=L+R>>1;
L==R Ans k=M, void();
build(k<<1,L,M);
build (k<<1]|1,M+1,R);

void push up(int k
Max_cnt|k<<l|>=Max_cnt|k<<l|
Max cnt/k!=Max cnt|k<<l];
Ans|k!=Ans|k<<l];

Max cntl[k|=Max cnt|[k<<l|1];
Ans|k|=Ans | k<<1|1];

void update(int k,int pos,int v
lef ki==rig/k
Max cnt|kl!+=v,void();
int mid=lef|k|+rig/ k!>>1;
pos<=mid
update(k<<l,pos,Vv);

update(k<<1|1,pos,Vv);
push up(k);

int d/MAXN]|,sz[MAXN|,f[MAXN|,dfs id/MAXN|,inv_id[MAXN|,dfs t;
int h _son/MAXN|,mson|[MAXN|,p[MAXN]|;
void dfs 1(int u,int fa,int depth
szlul=1;flul=fa;d ul=depth;mson[ul=0;
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
==fa

dfs 1(v,u,depth+1);
szlul+=sz|v];
sz[v|>msonlu
h sonlul=v;
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msoniu/=sz/ V| ;

void dfs 2(int u,int top
dfs id/ul=++dfs t;inv _id/dfs t|=u;plul=top;
mson|u
dfs 2(h son|ul,top);
int i=head|u];i;i=edge[i].next
int v=edgeli].to;
v==f[ul||v==h_son|u

dfs 2(v,v);

void update path(int u,int v,int w
piull=plv
diplull<diplv
swap(u,Vv);
Insert 2(dfs id[plull,w);
Insert 2(dfs id|ul+1,-w);
u=fiplull;

diul>dlv
swap(u,v);
Insert 2(dfs idlul,w);
Insert 2(dfs id|v/|+1,-w);

void update node(int u
int i=head 2/ul;i;i=lazy/1i]|.next
lazy/i].v>
update(1,lazy[il.v,1);

update(1l,-lazylil.v,-1);

int X/MAXNI,Y[MAXN|,Z[MAXN|,b[MAXN|,ans|MAXN];
int main

int n=read int(),q=read int(),u,v,w;
_for(i,1,n
u=read int(),v=read int();
Insert(u,v);
Insert(v,u);

_for(i,0,q
Xlil=read int(),Y[i|=read int(),Z/il/=read int();
memcpy(b,Z,sizeof(Z));

sort(b,b+q);
int Max z=unique(b,b+q)-b;
dfs 1(1,-1,0);
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dfs 2(1,1);
build(1,1,Max z);
_for(i,0,q
update path(X(i],Y[i]|,lower bound(b,b+Max z,Z[i!)-b+1);
_rep(i,1,n
update node(1i);
ans/inv_id[i]| |=Max cnt[1/>07?b[Ans[1]-1]:0;

_rep(i,1,n
enter(ans[i]);
0;
aod
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#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <algorithm>
#include <string>
#include <sstream>
#include <cstring>

#include
#include
#include
#include
#include
#include
#include
#include
#include

<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>
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#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int

int t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

inline char get char
char c=getchar ;
c==""||c=="\n"||c=="\r")c=getchar();
O

inline void write(LL x
register char ¢ , len=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-"');
x)cl++len|=x%10,x/=10;
len)putchar(c/len-- |+ -

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=1e5+5,MAXS=MAXN*40;
int root | MAXN]/,tot;
struct Node
int sz;
int ch ;
node MAXS|;
void push up(int
k) {node[k]l.sz=node|[node[k].ch .sz+node[node[k].ch .SZ;
void update(int &k,int lef,int rig,int pos
k=++tot;
node|k|.sz++;
lef==rig ;
int mid=lef+rig>>1;
pos>mid
update(nodel|k].ch ,mid+1,rig,pos);

update(node|k]|.ch , Llef,mid, pos) ;

void Merge(int &k1,int k2,int lef,int rig
'k1| | 'k2 kl|=k2,void();
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int mid=lef+rig>>1;

Merge(node|kl].ch ,hode k2| .ch , lef,mid) ;
Merge(node|kl].ch ,hode k2| .ch ,mid+1,rig);
push up(kl);

int query(int k,int lef,int rig,int rk
rk>node|k].sz :
int mid=lef+rig>>1;
lef==rig mid;
rk<=node node k]| .ch .SZ
query(nodel|k].ch , lef,mid, rk) ;

query(nodelk].ch ,mid+1,rig, rk-node/nodelk]|.ch

int kth[MAXN]|,Rank MAXN|,p/MAXN!,n;
int Find(int X x==p[x|?x:plx|/=Find(p[x]);
void Merge(int u,int v
int x=Find(u),y=Find(v);
xl=y
ply ! =X;
Merge(root/ x| ,rootly!,1,n);

int main

n=read int();

int m=read int(),u,v;

Rank =-1;

_rep(i,1,n
kthiil=read int(),pli/=i,Rank|[kth{i][=1i;
update(root/i!,1,n,kthii]);

m--
u=read int(),v=read int();
Merge(u,v);

int g=read int();

char opt;
q__
opt=get char(),u=read int(),v=read int();
opt=="'Q"

enter(Rank|[query(root|/Find(u)!,1,n,v ;

Merge(u,v);

.S2Z);
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#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <algorithm>
#include <string>
#include <sstream>
#include <cstring>
#include <cctype>
#include <cmath>
#include <vector>
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#include <set>
#include <map>
#include <stack>
#include <queue>
#include <ctime>
#include <cassert>
#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigit(c)){sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=="'-"';c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==""||c=="\n"]||c=="\r"')c=getchar();
O

inline void write(LL x
register char c[21],len=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-"');
x)cl++len|=x%10,x/=10;
len)putchar(c|len--+48);

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=3e5+5;
int head MAXN|,edge cnt;
struct Edge
int to,next;
edge  MAXN<<1];
void Insert(int u,int v
edge|++edge cnt|.next=head|u];
edge|edge cnt].to=v;
head|u!=edge cnt;

struct LCA
int d/MAXN|,sz[MAXN|,f[MAXN!;
int h son/MAXN|,mson[MAXN|,p/MAXN]|;
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void dfs 1(int u,int fa,int depth
szlul=1;flul=fa;d/ul=depth;mson ul=0;
int i=head/u!;i;i=edgel1i].next
int v=edgeli].to;
v==Fa

;

dfs 1(v,u,depth+1);

szlul+=sz[v];
sz[v/>mson|u

h sonful=v,msonlul=sz(v];

void dfs 2(int u,int top
plul=top;
mson|ul)dfs 2(h son|ul,top);
int i=head|u];1i;i=edge[i].next
int v=edge([i].to;

==f[ul||v==h_son|u
dfs 2(v,v);
void Init(int root){dfs 1l(root,-1,0);dfs 2(root,root);
int query lca(int u,int v
pull=plv
dipluli<d[plv swap(u,v);
u=fiplull;

diul<d[v]?u:v;

int query dis(int u,int v diu/+div|-2*d/query lcalu,v
lca;
int CIMAXN<<2]|,*cl1l=C, *c2=C+MAXN*3;
struct Path
int u,v,len;
path MAXN];
struct Tag
int p,next;
tag | MAXN<<1];
int w/MAXN|,head s/MAXN|,head t|[MAXN|,head lca/MAXN|,tot,ans/MAXN/;
void Insert t(int node,int k
tag|++tot|.next=head tinode!;
tag/tot].p=Kk;
head t/node!=tot;

.
’

void Insert lca(int node,int k
tag|++tot|.next=head lcalnode];
tag/tot].p=Kk;
head lcal/node!=tot;

void dfs(int u,int fa
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int tl=cl/w/ul+lca.d/ul|,t2=c2|wlul-lca.dlul];
int i=head(u];i;i=edge[i].next
int v=edge([i].to;
v==fa

dfs(v,u);

cl/lca.d/ul|+=head siul;
int i=head tlul;i;i=tag/1i!.next
Path& p=path/tag/i!.p!;
c2|/p.len-lca.d[p.v]]|++;

ans/ul+=cl/wlul+lca.d|ul|-tl+c2|[wlul-lca.dul|-t2;
int i=head lcalul;i;i=tag/i!.next
Path& p=pathitag/i!.p!;
cl/lca.d[p.ull--;
c2/p.len-lca.d[p.v]]--;

int main

int n=read int(),m=read int(),u,v;
_for(i,1,n
u=read _int(),v=read int();
Insert(u,v);
Insert(v,u);

lca.Init ;
_rep(i,1,n
wlil=read int();
_rep(i,1l,m
path!i!.u=u=read int(),path(i!.v=v=read int();
int p=lca.query lca(u,v);
path/i!.len=lca.d/ul+lca.d/v!/-lca.d/p|*2;
head s|ul++;
Insert t(v,i);
Insert lcalp,i);
lca.d/pl+w[pl==1ca.du
ans(pl--;

dfs(1,0);
_rep(i,1,n

spacelans(i]);

?

a2
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#include <bits/stdc++.h>

using namespace std;

char ch;

bool fi;

template<typename Type>

inline void read( Type&d
d=0, fi=0, ch=getchar();

lisdigit(ch) && ch!='-") ch=getchar();
ch=='-") fi=1, ch=getchar();
d=d*10+ch-'0"', ch=getchar();
isdigit(ch));
fi) d=~d+1;
const int N= +1;

struct DymSegTree
int 1s *N|,rs *N1, sum *N|,rtIN]|;
int rb *N|,top, tot;
inline int newNode
top?rb|top--|:++tot;

inline void delNode(int Xx
rb[++top|=x;
ls[x]=rs[x]=sum|x :

void modify(int&x,int 1,int r,int pos,int val
Ix) Xx=newNode!( ) ;
== sum|x|+=val; ;
int mid=(l+r)>>1;
pos<=mid) modify(ls(x!,1,mid,pos,val);
modify(rs|x]|,mid+1,r,pos,val);
sum|/x|/=sum|ls|[x]|/+sum/rs|[x]|;

int merge(int x,int y,int 1,int r
x| |ty x|y;
int now=newNode( ) ;
l==r) sum/now/=sum|[x|+sum[y/;

int mid=(1+r)>>1;
ls/now!/=merge(ls|(x!,lsly]/,1,mid);
rs[now/=merge(rs/x|,rslyl,mid+1,r);
sum/now!=sum[ls[now] |+sum/rs|[now! |;

delNode(x), delNode(y);
now;
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int query(int x,int 1,int r,int pos
l==r sum|x/|;
int mid=(1l+r)>>1;
mid>=pos) ? query(ls[x],l,mid,pos
rquery(rs[x|,mid+1,r,pos);

T1, T2;

vector<int> E[NJ;
vector<int> G[N];
struct Player
int u,v,tim;
alN/|;
int n,m,w/N/,ans/N|,dep/N|,falN ;

void pre(int x,int pa

dep|x|/=dep!falx =pal+1;
int i=1; <<i)<=dep[x]|; ++1i
falx]/il=falfa/x]| 1i- i-11;
int y:E[X y'!=pa) prely,Xx);

inline int lca(int x,int y
dep/xi<deply]) Xx*=y"=x"=y;
int dif=dep(x!-deply!;

int 1i=20; ~i; --1i
dif&(1<<i x=falx][i];
X==y X;
int i=20; ~i; --1 falx![i/!=falyl||i
x=fal[x]| 1], y=falyl![i];
falx ;

void dfs(int x,int pa
int y:E[X y!=pa) dfs(y,x);
int 1:G[x T2.modify(T2.rt[x],1,N+N, ali].tim-deplali].v]|+N, -
ans|[x|=Tl.query(Tl.rt(x],1,N+N, dep[x]+w|[Xx
+T2.query(T2.rtix]!,1,N+N, wix]|-dep[x|+N);

int i:G[x]) Tl.modify(T1l.rt[x],1,N+N, deplali].ul,-1);
pa

Tl.rt|pa/=Tl.merge(Tl.rt|pal,Tl.rt[x/,1,N+N);
T2.rtlpal=T2.merge(T2.rtlpal,T2.rtix!,1,N+N);

’

int main
read(n); read(m);
int x,y,i=n; --i;
read(x); read(y);
El(x].push back(y);
Elyl|.push back(x);
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pre(1,0);
int i=1; i<=n; ++i
int i=1; i<=m; ++i
read(alil.u); read
int LCA=1lcalalil.u
alil.tim=deplali
Tl.modify(T1l.rt[a
T2.modify(T2.rtla

,
u
i
i

read(wlil);

alil.v);
alil.v);

+deplalil.v]-2*dep[LCA];

.ul,1,N+N, deplalil.ul,1);

.v!,1,N+N, alil].tim-deplalil.v|+N,1);

G[LCA].push back(i);

dfs(1,0);
int i=1; i<=n; ++i

.
1
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